N = 0l & At & Ml A

2AM: LRl &S
HMm: DT 2E
©el: DEEX Y AAME N CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2 Xtel &= 2,255,154 2,091,017 164,137
2 526,030
Al 236,017
- 1,493,107
ngoluet 2 2,084,290 1,927,274 157,016
2 526,030
Al 236,017
- 1,322,243
N 2 480 XA 2,084,290 1,927,274 157,016
2 526,030
Al 236,017
- 1,322,243
A=Al dEH2Y 90,666 95,876 25,210
201 Let24d] 89,266 93,266 A4,000
01 At 22/l 14,704 18,704 A 4,000
O¢=diteldH S22 M= 6,500
oclZ 1,300& +5,0004 6,500
OLXelSAIH 23 ML M2 S
24,7503 x200% 4,950
Ogt==&H| 854,000 854
ORoddlsd= 200,000 12& 2,400
02 232gHl 74,562 74,562 0
OEIl243 2eltl 6,000,000& x12& 72,000
OAIE ZHI S X 2,561,332& 2,562
203 YR =&t 1,000 1,000 0
03 AIBFXH S Z=AY| 1,000 1,000 0
OA#Z=XH I =AY 1,000, 000& 1,000
405 XtatE SHI 400 1,610 21,210
01 HatH ESFH S 400 1,610 A1,210
oulgrAorE =< 400,000& 400
FYFBHH 29 48,300 58,660 A 10,360
Al 5,000
- 43,300
201 Let24E] 47,300 47,000 300
Al 5,000
T 42,300
01 At 22l 15,800 15,800 0
Oget=&H| 15,800,000 15,800
Al 5,000
- 10,800
02 =24l 1,500 1,200 300
OZHOIX |X =4l 1,200,000& 1,200




2AM: LRl &S
HMm: DT 2E
©el: DESX U AYHH XK (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZ2ZRSB(FUHELE2EXAMHIL)
25,0002 128 300
03 & Ar2 I 30,000 30,000 0
OoxFgeaal = 30,000,000& 30,000
203 YR =&y 1,000 1,000 0
03 AIZ=XH 2= H| 1,000 1,000 0
OFgzag g2Fa 1,000,000& 1,000
322 AMH 656,560 627,000 29,560
Al 114,000
- 542,560
401 Al HIZ 201 I 656,560 627,000 29,560
Al 114,000
- 542,560
01 A& HI 654,560 625,000 29,560
OS2 =2 A A& 654,560,000 654,560
Al 112,600
- 541,960
03 Al S HHI 2,000 2,000 0
Os&82 MY A& =20l 2,000,000& 2,000
Al 1,400
T 600
S32ZAMY FEAKE 29 420 420 0
201 £B-2dH| 420 420 0
01 At 22/l 420 420 0
OS2 ZANYHARAS 28+
70,0003 6 420
NAZsH el A 256,960 299,548 A 42,588
= 128,480
Al 64,240
- 64,240
401 AIEHI L 2 CHEI 256,960 299,548 A 42,588
= 128,480
Al 64,240
T 64,240
01 A& HI 226,960 270,048 A 43,088
OXNGZSSHLRelALY AlZHl 226,960,000 226,960
= 113,480
Al 56,740
T 56,740
03 A& =TI 30,000 29,500 500
OXNGSsHEHelAtE AlIE 2l
30,000, 000& 30,000
= 15,000
Al 7,500
- 7,500




2AM: LRl &S
HMm: DT 2E
©el: DEEX Y AAME N (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
JISHAE LHOIEH ALY 251,800 251,800 0
401 Al HIZ 201 Y] 251,800 251,800 0
01 A& HI 250,000 250,000 0
O&tHolE Al HI 1,000,000 259 104 & 250,000
03 Al S HHI 1,800 1,800 0
Odrdole AlZ 204l 1,800, 000& 1,800
A 8N ol RESE el W= 120,970 100,000 20,970
= 40,000
- 80,970
307 gl2tol & 120,970 100,000 20,970
= 40,000
- 80,970
02 RIZHENEXS 120,970 100,000 20,970
OXASEE LdNelEE NIAL (20 &
HeX 248 S6h 120 2201 |4)
120,970, 000& 120,970
= 40,000
- 80,970
NEASHIE 54 253,874 332,826 AT8,952
= 186,800
Al 33,537
T 33,537
307 21201 A 253,874 332,826 AT8,952
= 186,800
Al 33,537
T 33,537
02 2IAHFAEXS 253,874 332,826 AT8,952
OXYA2#IIY &4 253,874
o AFHOHEHl XI& 72,114,000& 72,114
= 50,480
Al 10,817
- 10,817
o €Xtcl&EE A HI 181,760,000 181,760
= 136,320
Al 22,720
- 22,720
A EDY sdAds 24E 2,800 2,800 0
201 Let24dH] 2,800 2,800 0
01 At 22/l 2,800 2,800 0
Og2s &4 =& 70,0003 43«10 2,800
ISEY At2IED1Hot 24 Or3talol & 25,680 25,600 80
201 ¢er24| 3,000 3,000 0
03 A2 Z Hl 3,000 3,000 0




2AM: LRl &S
HMm: Dgolmp 9x
Sl DBEX 2 MHH X (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OISEY AtZIZ ISt OJtHI0l UE IS
3,000, 000& 3,000
301 LBtE A= 2,680 2,600 80
09 AL HIZ &S 2,680 2,600 80
OISEY ALRIEDIZOt O2tOI0l HE IS Al
=l 7,000 *3A1 «40H x2 1,680
OISEY AtZIZE DI Z DOt O2tHI0l UE IS =
]l 100,000& 104 » 14 1,000
307 glz2tol & 20,000 20,000 0
02 QIZtFAE XS 20,000 20,000 0
OISEY ALZIEDIIHE Ot ObatCiol & JHAl
20,000, 000& 20,000
A2l ED| QI RHIOIH 24 30,760 30,760 0
201 £B-2dH| 30,760 30,760 0
01 At 22l 30,760 30,760 0
Oger==EH| 450,000 x12& 5,400
OAN&ZEH gtz 30,000 12& 360
OZgzged 29 25,000,000& 25,000
OS2I SdX3 MY 95,500 101,984 N6,484
= 47,750
Al 19,240
T 28,510
307 glz2tol & 95,500 101,984 N6,484
= 47,750
Al 19,240
T 28,510
02 QItFAEXZ 95,500 101,984 N6,484
OlISJIgsd X ALY 95,500,000 95,500
= 47,750
Al 19,240
- 28,510
NEoss AdReEE AIYE S2H 250,000 0 250,000
= 123,000
- 127,000
307 21201 A 250,000 0 250,000
= 123,000
- 127,000
02 B AEXS 250,000 0 250,000
OXNYatEs dXeldEE A S2H
250,000,000 250,000
= 123,000
- 127,000
HY2HAH (LR FEEH) 170,864 163,743 7,121
oI (LRl & &) 146,275 135,314 10,961




A ATRAHED
HM: HM2HAH (LA &=
el QN2 (LNFED) (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Clad2dH| HNRAIY(LXel &= 146,275 135,314 10,961
101 2121 4| 146,275 135,314 10,961
02 JIEt& 2% 146,275 135,314 10,961
OFHAEBHE LRl L2SH(A2HHSE CH
= F35A12H) 1 A Hl 42,566
oJdlEde 2,594 450 x 1 x12& 31,134
o dHZAH| 130,000 *1H x12& 1,560
o AZaE=xH| 135,620& x 1« 12& 1,628
o A2t 7,510 *25A1 2t x1H x12& 2,253
o E&=3 3,300,000 3,300
o HIIE AtY| 66,3403 x1H 10 664
o OIAHH| oA AR 40,539, 000& *5% 2,027
OFLHEBHE A A(AZIH AR OB
Z=35A12H) Q12 HI 103,709
o JlE2¢s 2,011,940& x3H x12& 72,430
o JIELE 70,0003 x1H ~12& 840
o JIExY 52,500 x1H x12& 630
o AHFAH| 130,000& *3H x12& 4,680
o AZaE=xH| 91,870& 3P x 128 3,308
o A2t 5,820& *25A| 2t *3H x 12 5,238
o YIIE AtY| 51,4403 »3H x10 1,544
o NS HIBEXLE 400,000& 43| x2H 3,200
o E &= 2,300,000& »3H 6,900
o O1AHHl oA H&=E 98,770,000& *5% 4,939
o= (LRRED) 24,589 28,429 £3,840
Jl2dd MEAS (LAl sE) 24,589 28,429 N 3,840
201 Bt A H| 13,909 13,909 0]
01 Al 22! H| 13,909 13,909 0
Ogbt=2H| 54,5903 x 12 x12& 7,861
O3&H| 7,000 x6A! 122 % 128 6,048
202 04 d| 7,680 11,520 A 3,840
01 2L Y| 7,680 11,520 N 3,840
O=UW0an bl 10,0003 *8H x8 x 12& 7,680
203 &2 =&H| 3,000 3,000 0
04 ENSIHRF=EY| 3,000 3,000 0
ORNS2IgIRF&Y| 250,000 x12& 3,000




